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And °""1 maintains, if he ate a robust row — R YOR HRYAWS 929

OVERVIEW

The Xn>12 presents a NPY?nn between 2Xynw” ' and X2°py "; where °"'1 maintains
(that the P05 of %W "3 177w 2v°» teaches us) that it is necessary for the P*n to pay
damages equivalent to the produce of the s'P1°1 best field. ¥"7 maintains (that the
P08 teaches us) the damages are collected from the choicest fields, and it is
certainly so by w7pr.! The X3 challenges the view of *" and asks; if the animal
ate a Mnw, he pays a 71w, and if he ate a 7wId he (also) pays a 71mw?! There are
two issues discussed in this mooIn. Firstly why mention the phrase, 0%wn n°nw 9o
nnw; the X3 could have simply asked n1nw a%wn 7wnd 2ox?! Secondly why is
the question on °"1 more than ¥"; neither said m1nw own nwnd 2ox! They both
seemingly said the same thing; the P12 pays from the 2v°n (according to "), or
from the (¥"7) N> 7.

- 735Y DYYN INNN NYINI YN NYN N9V DIUN N1V YN Xuwa *wvie
The explanation of the phrase 71nw obwn 7MY 25X is to be understood as
follows: It is rightfully understood that 7as»w abwn a1 %8 (for the 710 writes
o>w° 131 2von), however if he ate a mwIns, why does he pay for a onw?!

mooIn offers an alternate explanation:
= POV 15 NIMMIY NIN DIYN PR NINYAT 119 11999 991 993 ON

If you wish you may also say this is the explanation of the phrase 2%>wn n1nw 9o

71°mw; since when he ate a i9%w he only pays a 9%w, as much as he damaged -
- TV NNNI M OYYY 1YY 10D N

And we do not punish him to pay more than he damaged -
- 239y BYYY PRNY NI AN DY DYDY KY ) AWIND YINWYS 19 BN

If so, then he ate a nmwIn>, we should not punish him to pay more than he
damaged; i.e. to pay a 7w,

nvoIn asks:
— ANV BYWN NYIND JIN ONY 9919 INVNIY? Y29 Y9272 29V 4’9\9 INAN YNIANSH NI

" The x»3 subsequently explains the np1oms between ¥ ",

? The term 'w1®' is generally used when there is some difficulty with the apparent interpretation. Here too the
phrase 71°nw 0%wWn 79w 2K is seemingly unwarranted (see ‘Overview”).

? The question is why there is an inconsistency in the method of payment.

* The assumption that 73w 2%wn TWIND 99X is a mistaken one; as is soon evidenced in the X3
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And if you will say; why was the X712 more mistaken in the words of "1 to
assume that he meant to say that if 7onw 2%wn s YoN -
= N2*PY 229 9291 90
More than in the words of ¥''1 -
- SpayTvaY NNRY NMIY BYUN NYINI SHNIY YIN DNY 1) 9INP NAYPY %249 NaYT
Perhaps »''9 also meant that if he ate a w2 row, he pays with the 7192w row
of his field (just as we assumed that >3 meant 72w Q%wn TWIND 9IKR) —

MDOIN answers:
= %90 YNNIV 1249 99292 NYL 793D Y YN

And one can say; the reason the X7 wrongfully interpreted the words of >''9,

rather than the words of ¥y", is -
- PPN P PP MANY XIN 2IN9D X2 NKY NDPY %29 MMNPT 0IVN

Because ¥''1 responded to "1 saying; ‘the verse did not come to teach what you

(>"7) maintain, but rather it comes only to teach us to collect damages from ns7y

(and nothing more)
= POV N19N 9N 2NY 21NN RAY INRYNY? 22910 YUY "yawn

This indicates that ¥"1 understood from °''9 that the o2 is coming to obligate

the 11 to pay even more than he damaged, meaning -
111399V DYWYN NYING YIN ONT

For instance, that if he ate a 72> he pays a 1w,

SUMMARY

The preface of 121 1w 92X is either to set the stage for, or strengthen the question
of nrmw a>wn awnd 7R, The statement of XX 21371 X2 XY indicates that ¥ is
minimizing the rule of 2v°», as opposed to *"".

THINKING IT OVER
1. What are the relative advantages of the two 22170 in the beginning of n»oIn?

2. MPoIN mentions that the term of X?X 210377 X2 XY, indicates that ¥"1 is less severe

31t is not clear why n1vo1n inserts here the word(s) 7317y. [See following footnote # 6.]

% See 0" who interprets this to mean from the field of the pr.

" The words (of ¥"9 that) 'X9% 21271 X2 &Y', indicate that ¥"1 is coming to lessen the obligation and severity that his
counterpart (") ascribed to the p105. [Otherwise in the simple reading of the Xn»72 there seems to be no difference
between "1 and ¥"1 (except perhaps the phrase w7p2 1"p1).] The X7n3 assumed that the severity of "1 is that 92X
prhgal7aiplivialyivalgi
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(concerning 2v°») than >"1. However, in the X1pon of the X3 where they argue in a
case of P17 N°M2°10 P17 DTV, it turns out that ¥ 1s vann. How can we reconcile
this with the phrase of X?x 211277 X2 X»?21°

8 See "1 0",
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